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Divergence of the e+e- → WW cross-section

acounting only for ν and γ exchange

indicated the existance of a further exchange boson.

Why do we need electroweak unification?



Isospin lowering and rising currents







Electroweak quantum numbers

Y= 2 [Q – T3]

























Are more W+ or W- produced at the LHC (pp)?

Are more W+ or W- produced at the Tevatron (pp)?

Are more W+ or W- produced at LEP (e+e- )?
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Breit-Wigner Resonance is very general described:

Cross sections and width can be calculated within the Standard Model,

if all parameters are known:














